0oooooooooOoD 450000 20120: 80 110000

<table border="0" align="center"> <tr> <td> <p><a href="http://www.dinai.com"
target="_blank"><img src="http://soft.arkada.net.ua/images/stories/dinai.jpg" border="0"
width="200" height="50" /></a></p> <p>0 000000V €969-009/p> </id> <id>
<p><Strong>Q 099V 0 QP00 9P 90906 9</strong></p> <p><strong>V 0V V60OV &

@ 9909/strong></p> </td> </tir> </table> <p>@</p> <p class="a"> <div
style="mso-element: para-border-div; border: none; border-bottom: double windowtext 2.25pt;
padding: Ocm Ocm 1.0pt Ocm;"> <p class="a"><span
lang="UK">0 ¢ 90009000060 </span></p> </div> <p class="al">00060060006006
00000009 92013 09 00900900009 </p> <p class="al"><strong><span lang="UK">e1
@9 2013 @</span></strong><span lang="UK"> @@ e <span style="text-decoration:
underline;">0 0909 €9o</span> 0V VVVVP0VV9VV PO <strong>0 YV @/strong>

Y 9<strong>9 @ 9</strong> €000V 000V9VP 000 ¢ 90099 V000 ¢ 90000000
G000 90009 900000000000 909090, 000000,000000000000000000,
Q900900000 9 9009000000 9900000 9000900000 900000 900°00000 009
00090900 9009000000000, 0000000 '"90000000 900000000 9000000
960009" (N 2806-9V @ 06.09.2005 @), "000000609" (N 1701-IV € 11.05.2004 @),
"990009 (N 3425-Xll € 02.09.93 @).</span></p> <p class="al1"><span
lang="UK">9¢000® ©18.01.2013 ¢ 9000000000009 909000 000 9000000 00009
Q000909 009000909090 9009009 900 9900000009000 9000000000 900000 009
00000000(9N4212-VI € 22.12.2011 @), 00 900000 €0 909 .</span></p> <p
class="al"><span lang="UK">0 000 ¢, 0000000009009 9000000 6000 ¢
Q000000 09(00 0009 90000, 00000 9 0001600N 2009/5 ¢ 19.08.2011 ¢, 009
@ 900009000900 90909099 (<a href="nttp://irc.gov.ua/ua/Poshuk-v-YeDR.html"><span
style="color: black;">http://irc.gov.ua/ua/Poshuk-v-YeDR.html</span></a>). ¢0¢06é

2 2222° R 22222 R "R 2222 R22222°22 R "R 222722 W22 R 2°2°22-2°2 R R 22222
Q00 V009 900909 9909</span></p> <p class="al"><span lang="UK">*0 006 066006
Q0009 9000000000000 0000900 9009000000000 900000 9060009
0009000000909. 900 9000 90009090, 000000 990900000 99090 90 00009
916.12.2012 ¢ 99000 9090000090 9 9 "000000 90009 90000 60000
000000000090" (N755-1V € 15.05.2003 ¢), 90000009 900000000 000000 900
1°2°2°2°2°2722° 2 R ige]glep 27 R 2 -2°272°2°27 23 ife]glepR°27272 2727222727227 R "2-2°27 22 R 27222~
9 900090009 <sSlrONY>9 9VVVP00P V00P009 90699 </strong>@ <strong>¢ V&
V900090909 </strong></span></p> <p class="al"><span lang="UK">  </span></p> <p
class="a0"><span lang="UK">0 000000 000009 0000 0000000 0009
122227272222 R°222°2°22°2°2 822" % R-2°272-2°2°22-2° R 22272 2°2°2 R 2°2°22 2
Q900 99000000- 90090" (N 5410-VI @ 02.10.2012 @)</span></p> <p class="a2"><span
lang="UK">000® 6000609 "00606666" N 208 ¢ 03.11.2012 @</span></p> <p
class="a2"><span lang="UK">0 ¢ €066 €066 01.01.2013 ¢, ¢

Q0000000900900 9009</span></p> <p class="al"><span lang="UK"> </span></p> <div
style="mso-element: para-border-div; border: none; border-bottom: double windowtext 2.25pt;
padding: Ocm Ocm 1.0pt Ocm;"> <p class="a"><span lang="UK">2@@@®/span></p> </div> <p
class="a1"><span lang="UK"> </span></p> <p class="a3"><span lang="UK">é¢1 ¢ 2018 ¢&
Q0000909 9090009 90009090 90000909 900009009 </span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="al1"><span lang="UK">¢ 006 & &

@ 90N 5402-VI, @ 9<strong><span style="text-decoration: underline;">¢1 €& 2018 ¢@
Q0009 90090900 000090909 (00090909)</span></strong> ¥V YV VY<strong><span

1/12



000000000000 450000 20120: 80 110000

style="text-decoration: underline;">@®@</span></strong> @ ®@®<strong><span
style="text-decoration: underline;">¢ 90699V V9 VG SV H9</span></strong> ¢ €00 e
QY99 .</span></p> <p class="al"><span lang="UK">0 ¢ ¢000000000060
<strong><span style="text-decoration: underline;">® & ®@/span></strong> @
Q00090-00000000009 20 @ 80 €9 </span><em><span style="color: gray;
mso-ansi-language: UK;" lang="UK">(340-1360 @ ®)</span></em><span lang="UK">. €&
G0009- 9900000000000 9 9000900 9000000000000000506 100 00
</span><em><span style="color: gray; mso-ansi-language: UK;" lang="UK">(850-1700

9 9)</span></em><span lang="UK">.</span></p> <p class="a1"><span lang="UK">¢ ¢ ¢© 9,
V9000000 9009 9 9909000 900909 9900000909000 900090 990000 9000000 0000,
Q000 90 990099 <strong>V VY V</strong> <span style="text-decoration:

underline;">0 000009 (0000Q), 900909</span> & €969 ®é<span
style="text-decoration: underline;">@ @99 9@ </span> 90V VQ VY, 0000060 ¢

@ @<strong><span style="text-decoration: underline;">@®® ¢ @9o</span></strong> €600 ®
D 000009 9090009069 <strong><span style="text-decoration: underline;">@
99900909 .</span></strong></span></p> <p class="al"><span lang="UK">¢ 006,
Q00000009 "900009" </span><em><span style="color: gray; mso-ansi-language: UK;"
lang="UK">(N 187/98-¢ @ 05.03.98 @)</span></em><span lang="UK"> ¢ 06066 €06
Q00900909 9900900909 </span><em><span style="color: gray; mso-ansi-language: UK;"
lang="UK">(9 & ¢0é €09o)</span></em><span lang="UK">, 006 ¢066o
Q0000009 900000009000 0900 9000 9000900 909,90 90000000000 6000 9
Q00909 9000090909, 90000090 9909 900009 9 900000000000 0009
Q000000009009 .</span></p> <p class="al1"><span

lang="UK">------------------om---- </span></p> <p class="a0"><span lang="UK">0 00 660¢

R 22222 8222222222222 82 %222 8227222222228 22727
V009000000909 9 900000 9909000000 99000 9000090 900006" (NH402-VI @
02.10.2012 @)</span></p> <p class="a2"><span lang="UK">0 0 0o ¢00009. "0060069"
N 208 € 03.11.2012 @</span></p> <p class="a2"><span lang="UK">0 ¢ €600 6609
04.11.20120, 0000600 1 0000 |, 00060000 €006001.01.2018 @</span></p> <p
class="a1"><span lang="UK"> </span></p> <div style="mso-element: para-border-div; border:
none; border-bottom: double windowtext 2.25pt; padding: Ocm Ocm 1.0pt Ocm;"> <p
class="a"><span lang="UK">0 ¢ @ ®6é &01J&/span></p> </div> <p class="al"><span
lang="UK"> </span></p> <p class="a3"><span lang="UK">0 000000000 ¢ 0069 69
Q99 909009099 </span></p> <p class="al"><span lang="UK"> </span></p> <p
class="al"><span lang="UK">0 000000000009 9000000000 90900 6000000
Q00909 9000 9090909 9 900009090'000000000000 90090 9000000 (N4452-VIi @
23.02.2012 @), 99 9090900009000 9000 900009 9 90000000-0000 00. 00 0600 9
Q0009 9 909090009000 9909 99000909 V09</span></p> <p class="al1"><span
lang="UK">[ ¢ 00000009 090000000 9900 0909000000 90900000 00000006000
Q9000090009 909 990090909<stroNg><eM>0 VPV é @9 H</em></strong>

@ 90909 9<strong><span style="text-decoration: underline;">0 000 0¢
</span></strong>0 099 P 9000 90909PP00 009 @ 990900. V0000000 0000
Q0000909 9 90009 9000000000 9000000000000, 000 00

999909 .</span></p> <p class="al1"><span lang="UK">0 0000000 00000009 660 ¢
9999 @ <strong><em>¢ 9090200 €0 €€,</em></strong> V0V VVGO ¢0000006
Q00000000090 9N 4452-V|. 00009 9000 900 99000 9 T000 0000 00ON27 ¢

2/12



000000000000 450000 20120: 80 110000

21.08.2012 & 090900090 ¢ 0000009 06017.09.2012 @ </span></p> <p
class="al"><span lang="UK">® €00 00000000 690009 900 900000
Q000000900000 0000000000 909000906 9<span style="text-decoration:
underline;">0 0@ ®©€®</span>.</span></p> <p class="al"><span

lang="UK">0 0090000000909 9000 ¢ 009090900 00000000 06060
000900000009. 99000 000900000 000,90 900000000090 900000
900009000000000, 0090009000090 9000000000 900000000000000
V0090000 90009 990000, 00090900 900090 9900000000000000000

Y9 9</span></p> <p class="al1"><span lang="UK">----------------------—- </span></p> <p
class="a0"><span lang="UK">0 00000 "9000000 09000 9090000000900 60 9069
Q000090009 9000009 9000000000 900 900060006 (N5411-VI € 02.10.2012
@)</span></p> <p class="a2"><span lang="UK">0 006 ¢06069. "0606060"N 208 ¢
03.11.2012 @</span></p> <p class="a2"><span lang="UK">0 ¢ €006 €069 04.11.2012
@ </span></p> <p class="al"><span lang="UK"> </span></p> <div style="mso-element:
para-border-div; border: none; border-bottom: double windowtext 2.25pt; padding: Ocm Ocm
1.0pt Ocm;"> <p class="a"><span lang="UK">0 @006 & #6é</span></p> </div> <p
class="a1"><span lang="UK"> </span></p> <p class="a3"><span lang="UK">¢ @
Q00009000909 900069/span></p> <p class="a1"><span lang="UK"> </span></p> <p
class="a1"><span lang="UK">0 000 0o 900009069 ostrong> </strong></span><span
lang="UK">0 0000 ¢ 000900000009 009, 9000006000600 N5413-Vl &
02.10.2012 & 90909 9009009 9V 9<strong><span style="text-decoration:
underline;">01.01.2013 @</span></strong> €@ ¢ €09V (90é <strong>00 V0000609,
Q9999 909</StroNg> 0V VG900 0099 9909 900009000000 000006(00,
Q9<sSirong>9 9009900900909 96099</StroNg>V V09V 00000000609 000
99999 <strong>V 0 VYV VY9 é/strong> </span><span class="a4"><span lang="UK">(@
Q90009009 9009</span></span><span lang="UK">.</span></p> <p class="al1"><span
lang="UK">0 00 0¢, €006 ¢ & 173.2 00000000 90009, 9000000 0000(000¢
0900009000 909009 900 9900000090900 9090009090909<strong>0 9V Vé/strong>
<strong>0 @@ 9@ <span style="text-decoration: underline;">@/®@/span> 9@ <span
style="text-decoration: underline;">¢/®®/span> ®€ @, <span style="text-decoration:
underline;">¢ @90 9o #VV VY9 </span></strong></span><span class="a4"><span
lang="UK"> (0& ¢0066006 ¢01.01.2013 @). </span></span><span lang="UK">¢ & & &
Q009 9900090090090 09 9000000000009 0009<strong><span style="text-decoration:
underline;">®@</span> €9 0é #9609 + <span style="text-decoration:
underline;">@@®</span> ¥ € + <span style="text-decoration: underline;">®@</span>

99 9/strong>.</span></p> <p class="al"><span lang="UK">0 000 ¢ 600060006 900066
Q009090 90090900000 9</span></p> <p class="al"><span lang="UK">-

<Strong>9 009909 9909090009000 90900090000009</strong>, V0V0 9000006
1222827228222 %22 R°222°22-2°2°202°2°28°2°2-2-2°2%2°2°22-2°2 2R K222 2
090009, 9009090909 <slIONJ>V VP00V 00 90000000 99/strong>. 00O
90000900093%,4% 965% 90000009 900900600909 ;</span></p> <p
class="al"><span lang="UK">- <strong>0 ¢ @ 900900096 é</strong>, ¢ 9060006 ¢
0222272227222 222222 R 22222 K22 222 R22 22222 R R 2223
</span></p> <p class="al1"><span lang="UK">0 0000060060066

900009000 90000900 909090 '9000000000090 9" 9900 @ 9°0 V00000X00, 00
Q900009000 9000-00909 00900 009009 "[j09. </span></p> <p class="a1"><span

3/12



000000000000 450000 20120: 80 110000

lang="UK">--------------------—-- </span></p> <p class="a0"><span lang="UK">0 00 000¢
"QPOOOOD 99009 V0000000000900 0 V000000000 90000000 90000000
000009 009" (N 5413-VI € 02.10.2012 @) </span></p> <p class="a2"><span
lang="UK">0 ¢ o0& €09669: "</span><span lang="UK">006066é" N 208 ¢ 03.11.2012
@<strong></strong></span></p> <p class="a2"><span lang="UK">0¢ €006 €069 3 600
2012 @, 90090009 9 900909009, 90000000 900001.01.2013 ¢ (00006000009
Q000 9 900 9000900000009 000000000 909 </span></p> <p
class="a1"><span lang="UK"> </span></p> <div style="mso-element: para-border-div; border:
none; border-bottom: double windowtext 2.25pt; padding: Ocm Ocm 1.0pt Ocm;"> <p
class="a"><span lang="UK">0 ¢ @00 996 é</span></p> </div> <p class="al"><span
lang="UK"> </span></p> <p class="a3"><span lang="UK">0 00 ¢ 90 ¢ 906000000069
9-999</span></p> <p class="al1"><span lang="UK"> </span></p> <p class="al"><span
lang="UK">0 00 060® 000006 ¢ & .8 906 99069 "</span><span lang="UK">0 00006
Q9 V009 9009 9 90909000'90009090009 90909 909090909" </span><span
class="a4"><span lang="UK">(N 2464-V| ¢ 08.07.2010 €)</span></span><span lang="UK">.
Q009009 9009069 <strong>9 V9@ 9/strong></span><strong><span style="font-size: 12.0pt;
mso-ansi-language: UK;" lang="UK"> ®© @& @</span></strong><span lang="UK">0 ¢ ¢ &
Q00009 9009 9009000'900099/span><span style="font-size: 12.0pt; mso-ansi-language:
UK;" lang="UK"> ¢ 9@ 9@ </span><span lang="UK">0 000 6060069

999 9</span><span style="font-size: 12.0pt; mso-ansi-language: UK;" lang="UK"> <strong>®
Q0090000090000 909 90099</strong>.</span><span lang="UK"></span></p> <p
class="a1"><strong><span style="text-decoration: underline;"><span lang="UK">¢®
Q0090090009 99/span></span></strong><span lang="UK"> <em>(0 0000 $606¢
Q00009 00909N 2464)</em>:</span></p> <p class="al"><span lang="UK">- &
Q0090090009009 (9 9900909 9090909 - <strong>85,5330%</strong>;</span></p> <p
class="al"><span lang="UK">- ¢ 00 000® €0906096é- </span><strong><span
lang="UK">5,7410%</span></strong><span lang="UK">;</span><span
lang="UK"></span></p> <p class="al1"><span lang="UK">- ¢ ¢ 00609 ¢ 600609 -
<strong>5,0906%</strong>;</span></p> <p class="al1"><span lang="UK">- ¢ €060
909900 900099- <strong>3,6354%</strong>.</span></p> <p class="al"><span
lang="UK">0 00 00® 90000000 900 00000000 ¢ 9009, 9000000 90000000000
V0090000009 99090 9000 9 9000000 009,00000000
QVV90000909</span></p> <p class="al"><span style="font-size: 12.0pt; mso-ansi-language:
UK;" lang="UK">- </span><span lang="UK">® 000006006009 (¢ 906000 6009 -
<strong>94,3694%</strong>;</span><span style="font-size: 12.0pt; mso-ansi-language: UK;"
lang="UK"></span></p> <p class="al"><span style="font-size: 12.0pt; mso-ansi-language:
UK;" lang="UK">- </span><span lang="UK">® €9 006¢ ¢ 660009 -
<strong>5,6306%</strong>.</span></p> <p class="al1"><span lang="UK">¢ ¢ & 66 06
G000 990009 9009000909 9000000000000000 0006
00090000000000000000 90, 000000009 <sStrONY>V0009 90000600 ¢
QOP000090009 (9 00009 9009</strong>.</span></p> <p class="al"><span
lang="UK">----------------------- </span></p> <p class="a0"><span lang="UK">0 00 600¢
"POPOVOP 990909 9008 V009 99099 "900000 09 9009 V00 O
Q0000900090000 9009 9009 9009099" </span><span class="a4"><span lang="UK">(N
</span></span><span lang="UK">5455-VI</span><span class="a4"><span lang="UK"> &
16.10.2012 @)</span></span><span lang="UK">.</span></p> <p class="a2"><span

4/12



000000000000 450000 20120: 80 110000

lang="UK">0 00 ® #00069: "</span><span lang="UK">0@00060" N 209 ¢ 06.11.2012
é<strong></strong></span></p> <p class="a2"><span lang="UK">0¢ ¢06¢ €06
01.01.2013 @</span></p> <p class="al1"><span lang="UK"> </span></p> <div
style="mso-element: para-border-div; border: none; border-bottom: double windowtext 2.25pt;
padding: Ocm Ocm 2.0pt Ocm;"> <p class="a" style="border: none; mso-border-bottom-alt:
double windowtext 2.25pt; padding: 0cm; mso-padding-alt: 0cm Ocm 2.0pt Ocm;"><span
lang="UK">0 0o &_0&|J9e6eé/span></p> </div> <p class="al"><span lang="UK">
</span></p> <p class="a3"><span lang="UK">0 0000000060 006009 66¢
©999/span></p> <p class="al"><span lang="UK"> </span></p> <p class="al1"><span
lang="UK">0¢0® €& #066é <strong>¢eeN 5406-VI @ 02.10.2012 @</strong>, €0 66
G 90009000 9 900090000009 990 990000 990 9909000000000 00 0 009
<strong>9 ¢, 090900990 909009 9009090009004 </strong> (0000006

9 9).</span></p> <p class="al"><span lang="UK">0 0000 ¢000¢ 00009 660 ¢
Q009 900000909, 90000 900909009 <strONg>0 000009
"QVPP000000000006</strong> (N 1039-XIl @ 14.09.1999 ¢). 0000000000069
999909 <strong>"00 999 </strong>(0 V09 ¢ 9009009, V900009 060900609 96 <span
style="text-decoration: underline;">0 0@ ¢00o 909 @ ¥9H9</span>), ® 000V 9600é -
<strong>"0 900999 9906 9</strong> (000 VV0909, 909 (9000 000000069,
90000900-9900000900, 009 90000000000000000 90009, 00 0000
Q00009000 90009).</span></p> <p class="al"><span lang="UK">0 06066
<strong>0 9V V9V 9@ 9 9</strong> <strong>V @V VPV V9GPV </strong> 000H 06 0069
999 9</span><span style="color: windowtext; mso-ansi-language: UK;" lang="UK">¢ & & ¢
G000 99000000000000000000000090 000000000000000, 00000000, 9
D 0009090000 9090909 90000, 00000000 9009 99 9 909 .</span><span
lang="UK"></span></p> <p class="al"><strong><span

lang="UK">0 00000 0000009006000609H6</span></strong><span
lang="UK">9 @ ®strong> ¢ 00909 é </strong>0¢ 90009 909<strong>0000¢

999 .</strong></span></p> <p class="al"><span lang="UK">- ¢ 0060060096
Q0000900090 0(0009 90009000900 9 9000909, (000000000000, 00000090
Q000 99 V000009 9009 909099 ;</span></p> <p class="al"><span lang="UK">- &
Q000909 9009090009090 0090000000000 90 0000000000 9060006001.01.2011 @
99 9</span></p> <p class="al"><span lang="UK">@® €009 <strong>00006 ¢
Q0000900 9090000000000009/strong>, @ V0000090000009 H<span
style="text-decoration: underline;">¢ 9009000V V9909 900090000000 0069
Qo</span>, VVVVVVV9VP 909 .</span></p> <p class="al"><span

lang="UK">0 0000000009 9000 0000000 00606

<strong>9 00090990099V GY/strong> 00V V0V00000609 06

Q9909 9<SIIONY>9 V09009 900 09 9 V00'9000900099</strong>.</span></p> <p
class="a1"><span lang="UK">0 00000 0® 90090009009 <strong>0 009, 006 006 06
Q0009 9 900909 990009</strong>, ¥O<slroNg>0V VGV VY 69 90606
900000000000909/strong> (009 0000000000000 0009, 0000, 000000 ¢
009 999,900 9 9000, 0000000 900090900 900 9 V009000 000000090,
QOP0000900 900900000009, </span></p> <p class="al1"><span

lang="UK">0 0000000000000 0000 ¢ €0669 [] <strong><span
style="text-decoration: underline;">0 ¢ 00009 90V V 90VPVP ¢0000P 000 6O
9990090009099 /span></strong>.<strong></strong></span></p> <p class="a1"><span

5/12



000000000000 450000 20120: 80 110000

lang="UK">0 00000000009 9000000 900000 9000 99 0000000000000000 ¢
Q09 990900000909 - 0009 9909 9000 909090 9 9 9000 00009
Q000090009000 09009 909l 9090 990009000000000 9 9 900, 000000 0090
999 .</span></p> <p class="al"><span lang="UK">ij® 9000009 006000 600069
Q0009 900 99 900900009000 90000 90 90000 9 90009 00000(000
Q0000000 900) 90000000909 </span></p> <p class="al"><span

lang="UK">0 0000906 99<sStrong>0 09 9000000 ¢ 9000000000600 0</strong>. <a
name="n161"></a>¢® 9009 & 99669 <strong><span style="text-decoration:
underline;">0 00000900 Q "990O"</span></strong>, ¢ 00Q 906 90000069 (00
Q000090009) ¢: </span></p> <p class="al"><a name="n93"></a><span lang="UK">-
<strong>9 00009 99009 90099 909</strong> VPGP0V 0P09 900000069,
Q0000000 90090000 V0009 9000 Y V00090000009;</span></p> <pclass="al"><a
name="n162"></a><span lang="UK">- <strong>0 000 ¢ (000¢) ¢ 606
000900000009/strong>, 9009 9000000900000 90009090-000000</span></p> <p
class="al"><a name="n92"></a><span lang="UK">--------------------—-- </span></p> <p
class="a0"><span lang="UK">@ 0090 9é "<a name="n3"></a>0 00006 96000
Q00009000900 900 9009 900900000 900 900000600069 (N 5406-VI @ 02.10.2012
@)</span></p> <p class="a2"><span lang="UK">0 006 ¢06069. "0606060"N 209 ¢
06.11.2012 @</span></p> <p class="a2"><span lang="UK">0 & €006 €060 07.11.2012

@ </span></p> <p class="al"><span lang="UK"> </span></p> <div style="mso-element:
para-border-div; border: none; border-bottom: double windowtext 2.25pt; padding: Ocm Ocm
1.0pt Ocm;"> <p class="a"><span lang="UK">0 @& €0006é 9#06é/span></p> </div> <p
class="a1"><span lang="UK"> </span></p> <p class="a3"><span lang="UK">0 ¢ &
Q00009000909 9009 90099</span></p> <p class="al"><span lang="UK"> </span></p>
<p class="a1"><span lang="UK">8 ¢ 9000000000 00000000000 900 60000
Q009 990009090909 <strong><span style="text-decoration: underline;">N
10472-1</span></strong>, 90909 09009 0P ¢ 909 9#09o</span><em><span
style="color: gray; mso-ansi-language: UK;" lang="UK">(N 2297-VI € 01.06.2010
@)</span></em></p> <p class="al1"><span lang="UK">0006¢, 60060060
9900009000000 909 9609 969 :<strong><span style="text-decoration:
underline;"></span></strong></span></p> <p class="al"><span lang="UK">-
0900009000000 0000000000090060999 </span><span style="color: windowtext;
mso-ansi-language: UK;" lang="UK">0 00 ¢ 9009000009 90000000009 00000
<strong><span style="text-decoration: underline;">0 ¢ ®¢ ®6®®/span></strong>;

999 9<span style="text-decoration: underline;">0 00009 6000V 000009 0000006
Q900 990009090000060909/span>;</span></p> <p class="al"><span style="color:
windowtext; mso-ansi-language: UK;" lang="UK">- </span><span lang="UK">¢ ¢ ¢ &6 &
<strong><span style="text-decoration: underline;">¢ ¢ ®oé/span> ¢

Q00009000000 09000000 9 V00009 909009</strong>(VV @ €09)</span><span
style="color: windowtext; mso-ansi-language: UK;" lang="UK">, ®€@®/span><span
lang="UK"> @& eeé®/span><em><span style="color: windowtext; mso-ansi-language: UK;"
lang="UK">,</span></em><span lang="UK"> 00000000600, 9609 €09</span></p>
<p class="al1"><span lang="UK">- 000000 9000 9000000060 9<span
style="text-decoration: underline;">¢ @ ®6 @ ®oé/span> <strong>00006¢
</strong>@®@strong>.</strong></span></p> <p class="al1"><span lang="UK">¢ ¢ ¢66¢
Q009000 900009 99090, 9 V0090 9900000009, 900000 0000000000090

6/12



000000000000 450000 20120: 80 110000

<strong><span style="text-decoration: underline;">® ¢ 90 ®é</span> </strong>0 0o
Q000090000000 00090009 909:</span></p> <p class="al"><span lang="UK">1)
027272272 B ife]glepR°27272°272-2-2°2722°2" 238 ife]g[e PR 2722 R "2 227222 R "R 22 °2 724
<strong>9 9999999V </strong>, ¥09P 00900009009V O<sIIONI>0 0P 00P 006000
Q0909 909009 99</strong>;</span></p> <p class="al1"><span lang="UK">2) ¢ 00

L 27272°2°R°22°2°272-2°2 72 2311 (e]plepR 222722 °2°2-2-2°272-2°272 2 291 ((e]ale bR 2 27272 - 2° 272 4
Q000000900 9 9090009- 9000090099 9009 ;</span></p> <p class="al1"><span
lang="UK">3) €909 9 ¥ <strong>0 000000009 900909000909 00900690066 9/strong>,
Q00009090 909000090009 9 990900090-9000000000 069

99900909 9<strong></strong></span></p> <p class="al"><span lang="UK">@, €069,
Q0009 900, 90000009 9 990 99000909 9009000909 9000090 9000090 906000 9
V00000 000090 "9 90000000 (".. 90000009 9 900 V09 9</span><span
style="color: windowtext; mso-ansi-language: UK;" lang="UK">"</span><span lang="UK">¢ ¢ &
Q00000 9000 9009000000 9090 990.." 9009 90000009 .</span></p> <p
class="a1"><span lang="UK">-----------------—-—- </span></p> <p class="a0"><span
lang="UK">0 0@ 9909 90000 "000009 90000 9009 99000 "00000 0000000009
(00000000900 00000000000 90 0600)" (N 10472-1 @ 28 €090 2012 @)</span></p>
<p class="al1"><span lang="UK"> </span></p> <div style="mso-element: para-border-div;
border: none; border-bottom: double windowtext 2.25pt; padding: Ocm Ocm 1.0pt Ocm;"> <p
class="a"><span lang="UK">9 @@ el @9é</span></p> </div> <p class="al"><span
lang="UK"> </span></p> <p class="a3"><span lang="UK">0 00000006 966
9990009000909 </span></p> <p class="al"><span lang="UK"> </span></p> <p
class="a1"><span lang="UK">0 00000006 #09¢ <strong>0 906 e</strong>
V0000000 0- 0000909 V000009 9 90000000009 .</span></p> <p
class="al"><span lang="UK">0 0000000 ¢ ¢ 900009 060000000

99 99</span><span class="a4"><span lang="UK">(9 9915 000009 006000 600069
Q0000006N 1017)</span></span><span lang="UK">. 00000 600, 006000606 (o 1
99100%-9 €909) & <Strong>9 99, 99V VVV9VH9V</strong>, <strong>0 0 & 960606
Q09</strong> 0000909 909099 7-9%, 90 <strong>V VY V</strong> - ¢
17-20%.</span></p> <p class="a1"><span lang="UK">¢ @& ¢ 00609 ¢1 6006 2013 ¢
D 9000000000000 9, 900000 90000009 ¥ 909 5-7T%.</span></p> <p
class="a1"><span lang="UK">---------------------- </span></p> <p class="a0"><span
lang="UK">0 00000000 00000000 "000000 90000060000

9909000000901 00000006 93000902008 N957"(N1017 @ 07.11.2012
@)</span></p> <p class="a2"><span lang="UK">0 & 0000 6000 609015 0606006
Q0009 9009099</span></p> <p class="al"><span lang="UK"> </span></p> <div
style="mso-element: para-border-div; border: none; border-bottom: double windowtext 2.25pt;
padding: Ocm Ocm 1.0pt Ocm;"> <p class="a"><span lang="UK">@ @06 & & €626 &/span></p>
</div> <p class="al1"><span lang="UK"> </span></p> <p class="a3"><span

lang="UK">0 0000000000 6090009 9009090009000 9009</span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="al1"><span lang="UK">¢ €060
Q00909 90 0009 9909000000000, 000000000 000 000 9
Q000090009000 9099 (90 9 900909 90009090 90009 900009 9009 .</span></p>
<p class="a1"><span lang="UK">0 & 0900000009 0009 9009 906009 660782 69
QO99<slrong>0 0000000 906099 <span style="text-decoration: underline;">0 0000006
999000900099 </span></strong> ¥V V@ V6V V<strong>e</strong>

7/12



000000000000 450000 20120: 80 110000

<strong>9@®@</strong>, @ ¥0 ¥ <strong>V VY@ ¥V VVY<span style="text-decoration:
underline;">0 000009 960909009 H</span></strong>. ¥0¢ 9VVGP 9000006000
Q00009000909 9009000 99 9000000000, 90 9000000000000 0000000
Q0000900 90000 90000 990009 900900090 90000090, 000000000000000090
02222222 R 'R 22°222 822222 2822222222 822282222 822223
<strong>9 999V 0 990699 9/strong> ¥V YV V</span></p> <p class="al"><span
lang="UK">0 000000000000 0000009 90009000900<stroNg>00¢ 00000 ¢ 609
Q9000990 9090009 9900909 V009900 V900 9009 90099/strong>.</span></p> <p
class="a1"><span lang="UK">®/span><span lang="UK">0 00 0® 6000 606 /8.2 60¢
Q00009 90090909 990909 <stroNg>0 90VVVY 90V 9</strong> €00V 0VY 06009,
Q009009009 909009009099<SIrONg>V VPV VGV 09 H</strong>, @ <span
style="text-decoration: underline;">¢ 0 ® 00906 9VVGPVP 00 900900000069

V999 9/span>.</span></p> <p class="al"><span lang="UK">- 00 00o 6669
</span><strong><span lang="UK">® ¢ 0000 ¢06906(09o) ®o</span></strong><span
lang="UK">;</span></p> <p class="al1"><span lang="UK">- €00 0¢ ¢00¢ 0006 ¢ 066
200.11 (00000 09000 990009 909<sSlrONY>V VPV VOV €9/strong>);</span></p> <p
class="al"><span lang="UK">- ¢ 000 9009, 90009000000000000 ¢ 6006009
<strong>9 V09999V V/strong>, 99V V00099 90'00009000000000000009
QOV90900909.</span></p> <p class="al"><span lang="UK">0 00000 600060009
9909000900050.2 00000 000, 99090060999 <span style="text-decoration:

underling;">0 000000009 9009 9000P09 900090009009 </span> @ ¥V 9strong>
</Strong>9 000009900 000090V 00-0000009 (00000) 000 ¢ 009

<strong>9 00090000009 96090060090 </strong> V0V Y V6. </span></p> <p
class="al"><span lang="UK">0 0000000 6900009 00090009, 90000 ¢ 00 006
Q990909 .</span></p> <p class="al"><span lang="UK">--------------oommomcccee- </span></p>
<p class="a0"><span lang="UK">0 00 900 "000009 9009 90000000060000¢
Q00009009 90009 90009000000, 9000 900090000000 9 V00000 900000009
900000000000000000" (N 11391 € 02.11.2012 @)</span></p> <p class="al"><span
lang="UK"> </span></p> <div style="mso-element: para-border-div; border: none;
border-bottom: double windowtext 2.25pt; padding: Ocm Ocm 2.0pt Ocm;"> <p class="a"
style="border: none; mso-border-bottom-alt: double windowtext 2.25pt; padding: Ocm;
mso-padding-alt: 0cm Ocm 2.0pt Ocm;"><span lang="UK">0 ¢ & ¢ ¢ 966 é</span><span
lang="UK"></span></p> </div> <p class="al"><span lang="UK"> </span></p> <p
class="a3"><span lang="UK">0 00000 ® 0009 000900 909 & €9b</span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="a1"><span lang="UK">¢@®@<span
style="text-decoration: underline;">@®®é</span> ¢ 09 V09 ¢V, & 0000000000069
Q000090009009 900 9 99009 9009 90 909009 90009 - <stroNg><eM>0900909 [
Q00009 90000000009 900090000000000000000 9000000 9000 9000090
Q0P 00009009009 90/cm></strong>.</span></p> <p class="al1"><span

lang="UK">0 0000000009 90000009 90 9000000900 00000 900000 00009
©99:</span></p> <p class="al1"><span lang="UK">- 000000 0000 600090 ¢
Q000909(00009 9000000 9009000 9000000000000 900000 9 900000, 9
Q00000009000 0000900 900000000000 00000009 9 909 9009, </span></p>
<p class="a1"><span lang="UK">- 0009 000009 90009000909 0090009 9006000 069
G 909 0000, 000 V000900009 V9</span></p> <p class="al"><span lang="UK">@
Q00909 9000009 9 920009 9609 909 (hitp://www.kmu.gov.ua/control/), ¢ @€

8/12



000000000000 450000 20120: 80 110000

00000000009 V000009000900 9009009 99 909000000000000 0000 009
D009 90909 900 9000909 900090 99090900 90000909, 900000 9000000000 9009
Q000 99000900009 900909090, 00000000 9 909, 000000 900 9000. 000
V00909000009 9090000 V000909 9 990000 9009000000090 90000. 00000000 009
Q000909 900909090 9 900090009 9 V09000 990000000000 9000006000
</span></p> <p class="al1"><span lang="UK">0 0000 009 90009 06000000006
02222°2722° 2222728 °2°22-2°2°2-2°22.2°2°2°2- %22 %222 R 2222 R "2 R-2°224
Q0000909 9 900909 90909, 9009000 9900909 9000000 99,0000 1000. 090 00
</span></p> <p class="al"><span lang="UK">---------------------—- </span></p> <p
class="a0"><span lang="UK">0 00000000 0000009090 "0009000 906090 966 3
12222727222 %22 R "R 282222 R 2222222227 R °222°22 822 R R 222 222 2N\
1009 @ 29.10.2012 @)</span></p> <p class="a2"><span lang="UK">0 ¢ 0¢ ¢00669:
"900000000 N 204 € 07.11.2012 @</span></p> <p class="a2"><span lang="UK">@ &
99000 9006 07.11.2012 @</span></p> <p class="al"><span lang="UK"> </span></p> <div
style="mso-element: para-border-div; border: none; border-bottom: double windowtext 2.25pt;
padding: 0cm Ocm 1.0pt Ocm;"> <p class="a"><span lang="UK">@ @ 0@ @ e é_&</span></p>
</div> <p class="a1"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">0 00 0600600662012 &</span></p> <p class="al"><span lang="UK">
</span></p> <p class="al"><span style="color: #222223; mso-ansi-language: UK;"
lang="UK">¢ ¢0® 00000 9090009000909 00900, 00000900000 ¢ 6000 ¢
Q090<eMm>(00009099</em> <strong>0 V092012 ¥o</strong> ¢ 9000000009
@999 <strong><span style="text-decoration: underline;">100,0%</span></strong>, ¢ ¢o¢
Q09000009 9 <strong><span style="text-decoration:
underline;">99,7%.</span></strong></span></p> <p class="al"><span lang="UK">
</span></p> <div style="mso-element: para-border-div; border: none; border-bottom: double
windowtext 2.25pt; padding: Ocm Ocm 1.0pt Ocm;"> <p class="a"><span

lang="UK">0 00000006 #69/span></p> </div> <p class="al"><span lang="UK">
</span></p> <p class="a3"><span lang="UK">@®/span></p> <p class="al"><span
lang="UK"> </span></p> <p class="al"><span lang="UK">- @ <strong>0¢ &
@</strong>:</span></p> <p class="al"><span lang="UK">--
<strong>0 0V V909V Y 9/strong> ¥V VY 9VV<strong>0 0@ 00000 VVHV9/strong> ¢
990090, 00000900099 99<slIONY>0 PV VY 90V 9 96 9/strong> </span><em><span
style="color: gray; mso-ansi-language: UK;" lang="UK">(®€®/span></em><span lang="UK">
</span><em><span style="color: gray; mso-ansi-language: UK;" lang="UK">N 5471-VI| &
06.11.2012 @)</span></em><span lang="UK">; </span></p> <p class="al"><span
lang="UK">-- <strong>@ 90 ¢ & 6 9/strong> @9 eé </span><em><span style="color: gray;
mso-ansi-language: UK;" lang="UK">(@®€N 5428-V| & 16.10.2012 &)</span></em><span
lang="UK">;</span></p> <p class="al1"><span lang="UK">-- 00000060066 ¢o
222N 1(elale PR 72722727227 R"2-2-2°2-2-2°2°22 R °2°2-2°2°22°2°22 R 224

Q00009000 9090009</strong> </span><em><span style="color: gray; mso-ansi-language:
UK;" lang="UK">(©@eN 5395-VI @ 02.10.2012 @)</span></em><span
lang="UK">;</span></p> <p class="al"><span lang="UK">-- €0 06006 €06
QOO<sSIrong>00 009 090009090900 00099</strong> </span><em><span style="color:
gray; mso-ansi-language: UK;" lang="UK">(®€@N 5458-V| ¢ 16.10.2012
@)</span></em><span lang="UK">;</span></p> <p class="al"><span lang="UK">- 060
9999<stroNng>0 099 009009 9009</strong> €€V Y <strong>0 0000 ¢

9/12



000000000000 450000 20120: 80 110000

990000009 /strong> </span><em><span style="color: gray; mso-ansi-language: UK;"
lang="UK">(@®eN 5450-VI @ 16.10.2012 @)</span></em><span lang="UK">;</span></p> <p
class="a1"><span lang="UK">- 000000 00090 $09"906<strong>0009 000009
Q009090 9009 900000000069 /strong>" </span><em><span style="color: gray;
mso-ansi-language: UK;" lang="UK">(@®@N 5407-V| ¢ 02.10.2012 &)</span></em><span
lang="UK">;</span></p> <p class="al1"><span lang="UK">- €@ ®eé</span></p> <p
class="al1"><span lang="UK">-- 9@ <strong>0 0000009069096 969/strong> ¢
Q0000000009000 09 009 90009 009 </span><span class="a4"><span
lang="UK">(®©@N 5432-V| ¢ 16.10.2012 @)</span></span><span lang="UK">;</span></p>
<p class="a1"><span lang="UK">-- </span><span lang="UK">0 0090000060 060006¢ -
Q999 90000090900009 9909 <slrONY>990 00000000 000, 0009

999009000 9</strong> </span><span class="a4"><span lang="UK">(@ @ &N 5434-V| &
16.10.2012 @)</span></span><span lang="UK">; </span></p> <p class="a1"><span
lang="UK">-- </span><span lang="UK">0 006 €006 [ 0060006090 &

Q00900900090 9<strONY>V PV VGV 99V O V</strong> </span><span class="a4"><span
lang="UK">(@®eN 5435-VI @ 16.10.2012 @)</span></span><span lang="UK">;</span></p>
<p class="al1"><span lang="UK">-- </span><span lang="UK">0 ¢ 0 ¢ 0600 1 00000060
G 9000900099599 90 9090900909 9099 90090090 9 9009 90000000 9

12°2°2°272°2°2 220722 2 ifelplepx22-2°2°27272 22 R R 2°2°27222 2" R 2272222272 K2
Q90095009, V000009 9 909 90 999</strong> </span><span class="a4"><span
lang="UK">(®©@N 5437-V| @ 16.10.2012 @)</span></span><span lang="UK">;</span></p>
<p class="a1"><span lang="UK">-- </span><span lang="UK">0 0 ¢ & 6600 | 60060006 ¢
0090909000090 90999 <SIIONY>VVVVVOP 900000900009 90909 & V06069/strong>
</span><span class="a4"><span lang="UK">(®¢@&N 5439-V| ¢ 16.10.2012
@)</span></span><span lang="UK">;</span></p> <p class="a1"><span lang="UK">--

Q09 (9009 90090009 9 90909009990 9 9900909000 900090000000000009
QO99 <sStroNg>0 V0P 0PV VPV PVV9VPVH</strong> </span><span class="a4"><span
lang="UK">(@®eN 5440-VI & 16.10.2012 @)</span></span><span lang="UK">; </span></p>
<p class="a1"><span lang="UK">-- 000006000 006N 11 ¢ 6600000666N 006
<strong>(0 09 9090900900909 009009 99</strong> @ 900V V09000 9000000
Q0909 990000909900 90090, 00000000000000000000000000 0 06009
(90000009 & 0000000009000 9000000090"00000609 96 </span><span
class="a4"><span lang="UK">(©@@eN 5442-V| @ 16.10.2012 @)</span></span><span
lang="UK">;</span></p> <p class="al1"><span lang="UK">-- </span><span lang="UK">¢ ¢ & &
0009000009090 9 9000000000

99999<sSIIONg>0 9000000900000 09000000 900090906 </strong> </span><span
class="a4"><span lang="UK">(©@@eN 5443-V| @ 16.10.2012 @)</span></span><span
lang="UK">;</span></p> <p class="al"><span lang="UK">-- @9 @<strong>0 000 &
Q9099</strong> @ 0VVVVVP0 & VOVVPVV9099 </span><span class="a4"><span
lang="UK">(®®éN 5445-V| & 16.10.2012 @)</span></span><span lang="UK">;<span
style="background: yellow; mso-highlight: yellow;"> </span></span></p> <p class="al"><span
lang="UK"> </span></p> <p class="a3"><span lang="UK">@®/span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="a1"><span lang="UK">-
1:27272-2°2°2:2°2°22.2°2722°2°22 2" 237 ife]glepx 2722 -2°2 402 °2°2°2 R 22 R 2°2 722 R °2°2-2°2°2 4

@ 9/strong> </span><em><span style="color: gray; mso-ansi-language: UK;"
lang="UK">(@®éN 686 ¢ 09.08.2012 @)</span></em><span lang="UK">;</span></p> <p

10/12



000000000000 450000 20120: 80 110000

class="al1"><span lang="UK"> </span></p> <p class="a3"><span lang="UK">®@/span></p>
<p class="a1"><span lang="UK"> </span></p> <p class="a1"><span lang="UK">-
0909090900000 909 9000, 000909009 90strONY>009 @ 90000006
99000090000009/strong>, V0V V<sSIroNg>V V09V 0090090009000 099/strong>,
Q0909909 <sStroNg>0 V0PV VPV 909V 9</strong> @Yo </span><span class="a4"><span
lang="UK">(@ @ @®N 450 ¢ 29.10.2012 @)</span></span><span lang="UK">;</span></p>
<p class="al1"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">@@</span></p> <p class="al1"><span lang="UK"> </span></p> <p
class="al1"><span lang="UK">- 90909 €99<strong>0000009 00900 9000006000609
990009009 </strong> @ 0VVVVPV0VP0990é </span><span class="a4"><span
lang="UK">(® 0@ €N 1257 @ 04.10.2012 @)</span></span><span lang="UK">; </span></p>
<p class="a1"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">@@®</span></p> <p class="a1"><span lang="UK"> </span></p> <p
class="a1"><span lang="UK">- €@ <strong>0 0 ¢ 606006 0060 ¢

Q090900909 /strong> </span><span class="a4"><span lang="UK">(®ee N 1342 &
02.10.2012 @)</span></span><span lang="UK">;</span></p> <p class="al1"><span
lang="UK">- 090009009 o<strong>0 0000 ¢ 99000 900 ¢ 99006000600906</strong>,
Q0000900 9009 ¥ 9909 </span><span class="a4"><span lang="UK">(¢@® N 1403 &
09.06.2012 @)</span></span><span lang="UK">;</span></p> <p class="a1"><span
lang="UK"> </span></p> <p class="a3"><span lang="UK">®®</span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="al1"><span lang="UK">- ¢ 0006069
999909 <stroNg>0 VP09 P 009V 009009 900 9</strong> </span><span
class="a4"><span lang="UK">(®® N 6386/10/06-406 ¢ 05.10.2012 @)</span></span><span
lang="UK">;</span></p> <p class="al1"><span lang="UK">- €60

<Strong>9 0009990009 990909000009 9900069/strong> 0006 ¢ 009

Y99 9</span><span class="a4"><span lang="UK">(@® N 2972/0/51-12/17-1115 &
08.10.2012 @)</span></span><span lang="UK">; </span></p> <p class="al"><span
lang="UK"> </span></p> <p class="a3"><span lang="UK">[ @@ eé</span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="al1"><span lang="UK">- €00
<Strong>9 90999 90909009 969/strong> 00V VVVVY 999 <strong>0 V000669
€©1986 - 1990 @9 @ </strong></span><span class="a4"><span lang="UK">(©¢@eN 644 &
12.10.2012 @)</span></span><span lang="UK">;</span></p> <p class="al"><span
lang="UK">- 000 090¢ 990009 <Strong>0 009 9009 9009090 0006 $0069/strong>
</span><span class="a4"><span lang="UK">(®@®N 621/1091/1046/502/773 @ 03.10.2012
@)</span></span><span lang="UK">; </span></p> <p class="a1"><span lang="UK">
</span></p> <p class="al"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">[ @@ @/span></p> <p class="al1"><span lang="UK"> </span></p> <p
class="al1"><span lang="UK">- €@ ®<strong>00é ¢ 9000069 966 9#066</strong>,
0000900000009, 00090 9009000 9000000000000000000000
Q0090000000009 000009 96099 </span><span class="a4"><span
lang="UK">(®©@eN 1122 @ 24.10.2012 @)</span></span><span lang="UK">;</span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">¢ @@ ®é®/span><span class="a5"><span lang="UK"></span></span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="a1"><span lang="UK">-
QOP999<sSIroNg>0 0V 0909V 999 </strong> <strong>0 V00V V09, V099V V9V 9/strong>
</span><span class="a4"><span lang="UK">(©@ N 15/2-15.2-2/1988-¢ & 31.10.2012

11/12



000000000000 450000 20120: 80 110000

@)</span></span><span lang="UK">;</span></p> <p class="al1"><span lang="UK">- ¢0 &
Q0009 9009 90090909 <strONg>V 00V 0O 909 9060099/strong>

<strong>0 0009000000009, 900009 009 </strong> 000V VY ¢ ¥V Gsirong>
</strong>@ VY @<strong> </strong>@ VY@ <strong>¢ VYo €9 Vo </strong></span><span
class="a4"><span lang="UK">(©@ N 12/2-12.1/3834-¢ & 24.10.2012 @)</span></span><span
lang="UK">.</span></p> </p>

12/12



